Adding and Subtracting with No Regrouping (C)

Calculate each sum or difference.

5 8 7 6 1 2 9 9 9 1
—2 —1 —4 —2 42 45 -2 -7 =8 <1
2 6 2 5 6 9 7 3 1 8
+2 -2 44 —1 -2 -2 -2 +6 +1 =1
3 7 8 3 1 9 1 2 49
+6 +2 =5 +1 +3 —7 44 +6 +2 =38
5 7 4 7T 9 7 2 2 4 2
+1 —4 44 +2 -4 -1 +2 +4 -2 +5
7 8 7 7 6 3 3 8 4 5
-5 —6 -3 —1 +1 45 41 =5 +5 —4
74 7 8 4 2 7 8 9 2
—6 4+3 =5 —1 +4 42 —1 +1 —4 +1
4 3 4 5 6 2 78 7T 9
-1 43 —=3 +4 =5 +7 +2 —1 —4 =T
5 5 7 1 6 5 4 5 6 1
+3 +4 42 46 -2 +1 42 41 —3 +2
8 2 8 4 T 5 2 4 T 7
-5 +3 -4 +5 —4 -3 42 -2 —1 =2
9 8 6 9 1 71 9 7 2
-3 41 +1 -6 +5 +2 +4 —-1 =6 +6
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